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Find the trigonometric ratio from the following figure.

I
il %0 0 sin 0 = %i cos 0 = J,f
. y
= tan 0 = —‘xL
sin(90' — 0)=——  cos(90" — 0)= ——
tan(90" — 0 )= ——
bﬁf:‘%@ y
P(—x, ) P(x, )
r .
y 5 H Yy
X X
sin(180° — 0 )= ——  cos(180' — 0 )=  ——
tan(180° — 0 )=  ——

bromlEAboB D L5 Ehd O
2. EfM=MAFKxzMMHLT, /k@ ﬁtt%?k&bii 0,
Find trigonometric ratios using right triangles.
v bA WD
15 B il &
@ sin 150° @ sin 120°
/ 0
30°
*\/g o
. ! /
sin /50 = ———
2
@ cos 135 @ cos 150
1IN\V2
45 735
—7/ o0
, 7
cos /35 = — ——
V2
@ tan 120° @ tan 135
V3 2
- 20"
—/ o
tan /200 = —4/3

3. _ﬁ o ® Z5EtE X,

Complete the following table of trigonometric ratios.

b AT 1 [P} YR
F'pﬁﬁ tan GZMJ:@, ZSERE K
cos 0
0 90’ 120° 135 150° 180°
. V3 Vo 1
sin 6 1 5 B B 0
1| V2 B V3 B
cos 0 0 5 B B 1
tan 0 — \/3_

TS0

tan 90° 3 cos 90° =007, B E LK,

sin 720° )
tan /20° = ————— = sin /20" <+ cos / 20°
cos /20°
3 / 3 2
:1l+(J_ﬁ:1LX(J_J:_@—
2 2 2 /

Shh< O [ ] i N

4. MAEFALC, KO —f ko 5 5w 1.

Complete the table of trigonometric ratios using the following diagram.

1135 | y p2| 457]

—9 710| 1

sin 6

cos 6

tan 6

120° 135 150° 180°

sin 6

cos 6

tan 6
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1. =MDk %%%IJFHL’C =M R ZEMRE K, 2. W fy = fi Z%ﬂﬁﬁb’c /k@ ﬁtl:%?k&biﬁéb\
Complete the table using trigonometric ratio expansion. Find trigonometric ratios using right triangles.
av D . i . VxH DAL av D bAED
FIED sin( 180" — 0 )=sin6 £V, £ FEME L, fg1 [
0 0 30 45 60 90 @ sin 135 @ sin 150°
. 1 V2 V3
sin 0 0 9 2 9 1 ; V2
y5° 735
0 90 120° 135 150° 180° ;/ 5
sin0 |/ vio| V2 ’ 0 -
- - - 135" = — -
sin ==
. . . . 2 2
sin /20 :sm(/é’() — 60 ): sin 60 = A2£ V2
. o 0 L 0 N @ cos 120 @ cos 135
sin /35" = sin(/£0° — 45 )= sings = =
sin 750" = cos( 740" —30" )= sin 30" = % VILNE
R
sin 770" = cos( 760 =0 )=sin0 = 0 ~7 o
b ATV . (ORI AL R
] E@ cos(180 —G)Z—COSGJ:D, A SERk &, cos /200 = — —
. L L L w n @ tan 150° @ tan 120°
an an
V3 V2 1
cos 0 1 0
2 2 2
/ N
0 90’ 120° 135 150 180 v
*\/g )
cos 0
tan /50 = — ——
V3
+ ) X Shn< O MhED
3. REFMLT, Ko Ao % 22kt X,
Complete the table of trigonometric ratios using the following diagram.
[150°| y a2 | 307] 1135 | y p2| 457]
bAED 3 [ ) AN
W@ tan(180 — 0)=—tan0 kY, % Z5Emt X,
0 0 30 45 60 90 120" \/ 60
"2 100 1 2x -1 [0
tan 0 0 % 1 \/3_ [ X
3 0 0 30° 45 60 90
0 90 120 135 150° 180°
sin 6
tan 0
cos 0
tan 0
0 90 120° 135 150 180°
sin 6
cos 0
tan 0
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Complete the table using trigonometric ratio expansion.

[ ]

AR

cos /50" = cos( 780" — 30 ):~ cos 30" — —

cos /60 — cos( 780" — 0

)=

— cos ) —

I R [P ] nx/u)@:
1 O cos( 180 —G)Z—COSG Xn, =) A
0 0 30° 45° 60 90
V3 Vo 1
cos 0 1 9 2 9 0
0 90 120 135° 150 180
0| o |- |- |-
cos 7 7 7
cos /20" = cos( 780" — 60 ): — cos 60" = —
cos /35 = cos( 780" — 45 ): — cos 45 = —

b AN

HEO tan( 180" — G)Z—tanG & @,Uig%%ﬁiﬂ’io

AN

0 0 30° 45° 60 90
1
tan 0 0 — 1 3
V3 V3
0 90 120 135° 150 180
tan 0
AT 3 [P ] ﬁ’/u‘&b‘\
@ sin(180° — 0)=sin 0 LV, % & oEpke k.
0 0 30° 45° 60 90
. 1 Vo V3
sin 0 0 5 B B 1
0 90’ 120 135° 150° 180°
sin 0

br ol & Abof Eh< O
2. W f = Z%ﬂﬁﬁbf /k@ ﬁtl:’ifik&biﬁéb\
Find trigonometric ratios using right triangles.
bAED
il
© sin 135
sin /20" = -
@ cos 150 @ cos 120
/ < 750
30
*\/g o
V3
cos /50 = — 7
@ tan 135 @ tan 150°
N2
45 735
—7/ o0
t —_— = —
an /35 F /

3. MEAMLT,

Sh < O AV AN

KO EH D F R

Complete the table of trigonometric ratios using the following diagram.

[150°| y a2 | 307] 1135 | y p2| 457]

120° 60
2 100 1 2x [0 1y

0 0 30° 45 60 90°
sin 6
cos 6
tan 6

0 90° 120° 135 150 180°
sin 6
cos 6
tan 6
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1. MEFHLT, SPky)DEmSy & sin 02Kk,

180°] ¥

Find y-coordinate of the point P and sin

150" |y a2| 30°]

1135| y

2| 457

using figure.

—10

ﬁm 150)
3

nwrEn HAEn
1) jE 2
D o @180 Y1

=

Sy =V2
e 2

sin P

Teh W Zh

(¥ iz 1)

3 ) Th Xz b
o, EMAEFM LT, M Pl,y)DHx & cos 0 &R k.,

1807 ya | O]

Find x-coordinate of the point P and cos

150" |y a2| 30°]

using figure.

[135°| y r2| 45°]

- -2
T L] 1o
ﬁk 150° 0 135°
_ x —2 2x —2
1o 1 L 5 O 5 2

2
Sz

N
151 R
® 90
Lz
Mx=0
cos 90" =
@ 60 P2
X —2 [0} 2 X
£z
HX —
cos 60 =
@ 45 Y12
X —2 0 2 X
Lz Lz
HEx = —V72 W —
o V2 o
cos /35 :*T cos 45 =
@ 30 YT 2
X —2 [0} 2 X
£z
W=
cos 30" =
® 0 Y11
-1 0 1 x
Lz
HX —
. —/ .
cos /80 = Ti*/ cos () =




Shnd O AR ) noEn

g2 RHOLE 5 RE

7 U Th = b
1. MERALT, SPkyo@EmSytsin 0 2R L,

Find y-coordinate of the point P and sin

L E(C 8L 8 )

3 ) Th Xz b &
o RAEFM LT, AP y)OMaxk cos 0 %KL,

Find x-coordinate of the point P and cos

using figure.

using figure.

180°] 150" | y g2 | 307 185 |y pa| 45 180°] 150" |y g2 | 30°] 185 | y p2| 45
1 e 1---- 1---- V2
180 R% 150° 0 . . 7 135
—10| 1 x*%\/g 0 5 /5 2 \/§2x*27\/§ 0
120°| yj 2 2
1
60 60
1 1 2% -1 jo 17y
bHA Y b
[t A
OX) @ 180" Y1
-1 0 1 X
Lz
W=
. b A . ]
sin 0 (B fz ) cos () = T:/ cos /80
@60%‘2\ @ 150" Y2
—2 ;1o| 2% —2 0| 2 X —2 o 2 X
Teh Teh Lz
T%%éy:\/? T%%éy o =
sin 720" = /23_ sin 60" = cos /50" =
®45ﬁ‘2\ ® 135 Y2
—2 o| 2 X —2 0 2 X
73?: Lz
Sy —
. ) V2
sin 45 cos 45 = T cos /35 =
sin 780" = +:0
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Find the trigonometric ratio (sine) from the following figure.

P o

X

T/ﬁ é T 7/5 7‘/ﬁ é
sin A = Ll - cos A = L%L, tan A = : ~h
WA 2157 ayqr I o rrv=rb K

nwrEn b BN
N
0 ) %: 5
5 4
A
A 12
3
SinA:—g sinA:
@ 17 : o @ 25 r‘7
A5 A 24
smA*—(S> sSinA = ———
77
®) ®
V5 ::: 1 V10 rjl
A A
2 3
. /
sinA = —— SinA = ———
VA
@ @
vk s
A A
V3 V3
3
sin A = —— SinA = ———
4
®
S
\/3_ A [ ]
£ V3
. V3 .
sin 400 = ——— sin 30 @ =———
2
® ®
1 2 150
V3 \2 a o
60 20 —V3 o
—1o
. . V3 . .
sin /20 == sin /50 = ——

o, MEFIMLT,

Th
H P

IS

P(x, y)@méy & sin 0 %?k??’)ot

Find y-coordinate of the point P and sin

using figure.

y [150°] y g2 30'] 1857 y p2| 45']
I S 1o V2
“10 1 x‘i%vﬁ 0 v§2“77%,

S
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Find the trigonometric ratio (cosine) from the following figure.
S% B B
AAC @AC AA(i
75?: é ’(L\?/u 7‘;@: é
sin A = Llw cos A = ii‘} tan A = :\%
YA whid ayqr I o rrv=rb K
oz oA
11| RH gl
@® ©) 13: 5
5 4
A
A 12
3
3
cos A = e COSA=—""
@ 17 : g @) 25 r‘7
A 15 A 24
_ 75 I
cos A T CoOs A =
©) ©)
V5 : 1 V10 Jl
A A
2 3
2
co0s A =—— COSA=—"
V5
@ @
i s
A A
VT V5
V7
cos A =—— COSA=—"
4
® ®
1
2/ |3 = .
AL [] \/3_
1
. 7 .
cos 60 :T cos 30 =——
® ®
1 2 150
V3|l \2 a o
60 20 -3 o
—1o
. —7 .
cos /20 :T cos /50 =———

3 ) Th Xz b &
o RAEFM LT, AP y)OMaxk cos 0 %KL,

Find x-coordinate of the point P and cos

using figure.

1807 yp [0  [150°]y g2 307] 1857 y p2| 45']
1 L] 1ooo- V2
180 ° k 150° 0 135°
—10| 1 x*%\/g 0 \/§2x*27\/§ 0
| 90
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Find the trigonometric ratio from the following figure. Find the values of sin 0 andtan 0 when 90" < 6 < 180 .
av D bA D av D bA N
i & 15 B i &4
90" — 0 00362—%@k€<, cos 0 = — \;5@&%
b L b L
r y f sin 6,tan 0 Z 3R X, sin 0,tan 0 Z Xk X,
r X
A0 [ <90 — 0[] sin?® =/— cos’ 0
X y 2
B | a0 — 0 )— SR (VAN R
sin 0 - sm(90 6) =7 ( P ) =7
cos 0 = 3: cos(90° — 0 )= — sn § >0 &Y
: B A . e B
smn 0 = Vi - 7
tan 0 =—xL tan(90° — 0 )= ——
~_sin 0
tan 0 = cos 0
+ ShzH Shm< O
2. ME%EI, k@lSO—G@ ﬁatl:%;k&biﬁéu\ 3
Find the trigonometric ratio of 180" — 6 using the diagram. — Tg - (~ %)
Yy
P(—x, )
y 5 : : . b
d 5. 90 <0 <180 ® & X, sin 0,cos 0 &K X,
x X Find the values of sin 0 and cos § when 90" < 6 < 180" .
nwn HAEWD
. . . i il &
sm(180 —0 ): — cos(180 —0 ): — 1 1
tanGZ—W@k%, tan@:—f@k%,
bL bL
) sin 0 ,cos 0 R X, sin 0 ,cos 0 Z3R X,
tan(180° — 0 )=  ——
I _ 2
‘ \ cos’ 0 =/+ tan< 0
+ ) X Sh < O ] MhED
3. RARMALC, koo % &2kt k. s
Complete the table of trigonometric ratios using the following diagram. =7 (* /_) — i
+ 7 ;
180°| 150 |y g2 30°] 135 |y pe| 45']
3
2 -
. ] L ~ V5 cos* 0 4
ﬁm 150 0 135
- ) i) : cos 0 <0 &V
10 1x7\/§ (o] \/§2x - (o] \/éZx
i cos 0 = — %
42
5> V3
1 =— "7
120° 60° [
-2 —1o0 1 2x —1 o 1 x .
fan § ——Sn 0,
cos 0
0 90’ 120° 135 150° 180°
V7 sin 6§ = tan 0 Xcos 0
sin 0 — 0
)
/ V3 2
cos 0 0 — T —7
_ 1
7 2
tan 0 — 7/ I —
V'3
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1. 90 <0 <180 DL X, cos 0,tan 0 ZKD &, 2. 90" <0<180 D&, RO=ALERDBREW,
Find the following trigonometric ratios when 90" < 6 < 180 .

Find the values of cos 0 and tan 0 when 90" < 6 < 180 .

=N AN N b
151 R I A 151 RE Bl
) sinezﬁ@k%, @ sinezﬁ@k%, @cos@z—ﬁ@k%,@)cosez—i@k%,
2 2 ", 13, 5 ..
cos 0 ,tan 0 KD L. cos 0 ,tan 0 ZRD X, sin 0,tan 0 ZK» L. sin 0 ,tan 0 K » L.
cos’ 0 =/— sin’0 sin? 6 =/— cos’ 0
L (A)Z L (*L)z
o 2 o 73
:+ 28
769
cos § <0 &7 sin 6 >0 17
cos 0 = — I 25
4 sin 0 = 760
- /
- _—2 _ 5
- 73
tan 0 sin 0 sin 0
cos 0 tan 0 = cos 0
@_(* L) 5 _(* 72 )
2 - 73 73
— —4/3 B 5
- 72
1 1 @ tan 0 =—7 O L X, @ tan 0 =—20 L X%,

@ sin 0 = @k%7® Sine:—o)k%r b 133
V10 . r V5 sin 0,cos 0 %R X, sin 0 ,cos 0 Z K I,

HL
cos O ,tan 0 KD K. cos 0 ,tan 0 ZRD X,
/

— 2
cos’0 =/— sin?0 sl g /T tant 0
i (;)2 =7+ (—7)=2
V70
cos? 0 :%
_ 9
. cos 0 <0 &7
cos 0 <0 &V .
cos 0 = — 5
9
cos 0 = — 0 /
S R
Vi
tan 0 — s v 0 I
cos 0O
¢ 0 sin 0
wmre cos 0 sin 8§ = tan 0 X cos 0
el ) H )
V7o V70 :
/ B 7
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1. RAEZEIL, RO=ZMAEEERD IV, 3. 900 <0 <180 DL X, cos O,tan O R &,
Find the trigonometric ratio from the following figure. Find the values of cos 0 and tan 0 when 90" < 0 < 180 .
y nwn HA WD
i &
. 3 ) 2
s1n6=% DEE, 31116:% DL x

b L b L
cos 0 ,tan 0 K X, cos 0,tan 0 Z K K,

cos’ 0 =/— sin’ 0

N b AN
f5il /E sk ,
o (\/3 ) 7
N 2 4
sin(180" — 0 )=—rL Gn 0 = ——
cos 0 <0 J"
. — _ /I /
cos(180—6)= :C cos = —— cos 0 =— =
tan 0 — —Sn 0
tan(180° — 0 ): _3 tan 0 = — cos 0
R
=5 5
+ V) X1 o< O [P} nx/u)m:
2. MZEZFBALT, O=fMd £ ZEpkd L, B >

Complete the table of trigonometric ratios using the following diagram.

180°] y [150°] y g2 30°] 1857 y p2| 45']

______ 1----
ﬁm 150° 0

b
4. 90° < 0 <180 ® & =, sin 0,cos 0 3RO L,
Find the values of sin & and cos 0 when 90" < 0 < 180 .

_ —2 —2 ) N HA WD
10 1 X 5 0o \/§2x "/ 0 \/éZx 15| R 1H
i tan 0 =— 1 D& X, tan 0 = — /3 D& X,
1201 3y - ”
~ (VB , sin 0 ,cos 0 3R L, sin 6 ,cos 0 &R &,
120 N/ 60 i =/-+ tan? 0
-2 —1lo 1 2x -1 Jo 17y cos? 0

- - - _ N2
0 0 30 45 60 90 =7/+(=7)=2
sm 2 cos? 0 — —

2

V'3 V2 cos 0 <0 X"
cos 0 /

2 2

cos 0 =— %

tan 0 /— /

V3 V2

\/z 2
0 90 120 135 150 180 tan 0 — (s:(l)I; g i
. V2ol
sin 6 / 2
2 sin § = tan 0 X cos 0

cos 0 */— *ﬁ - (* / )X(* \/5)

2 2 2

V2

tan 0 —1/3 0 2
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1. 90° <9 <180 D& =, %@%%fh%;&&)iﬁéb\o 2. 90° < 0<180 D& x, %@%%ﬁ:%%&@f;éb\o

Find the following tri

gonometric ratios when 90" < 0 < 180 .

nwn 7w

il

HAED

[2]

—

aic}

V2

DL X,
2 b L
cos 0 ,tan 0 KD L.

@

sin 6 =

cos’ =/— sin’ 0

)
2
2]
oy 2
cos 0 <0 L7
s
cos O = — 7
I AV
\/5 2
tan 0 s 0
cos 0
V2 A2
=7+ 2
= —7

V3

DL X,
2 b L
cos 0 ,tan 0 ZRD X,

@

sin 6 =

@ sin e—{@@k%,
HL
cos O ,tan 0 KD K.

cos29 =1 — sin2 0

o

cos 0 <0 k"

cos 0

__sin 0
cos 0

@ sin e—JSE@k%,
HL
cos 0 ,tan 0 ZRD X,

Find the following trigonometric ratios when 90" < 6 < 180 .

5,
sin 0,tan 0 Xk L,

sin? 6 =/— cos’ 0

o )

76

25

sin 06 >0 &Y

/6

B 25

sin 0

no Yh
{51 R F
@cos@z—i@k%,@)cosG:—L@k%,

2,
sin 0 ,tan 0 kK X,

@ tan 0 = —V3 D & &,
sin 0, cos 6%%‘%@&0

/
cos? 0

=7+(—v3)'=4

=/+ tan? 0

/
2 — L
COS 0

cos 0 <0 L7

cos 0O

sin 0

cos 0O 7

tan 0 =

sin 0

()4

V3

2

= tan 0 X cos 0

@ tan 0 = V2 DL x|
sin 0 ,cos 0 %%é&’)oto




Shh O nbrd P AviE) »oEw

g7 | —RLOLE BRE R8 [

EC B &

oF Shd O

1RO S R &,

Find the trigonometric ratio from the following figure.

v En bAED
15 R4 i e
90 — 0
r y A
r X
A ] 90 —0  []
X y
sin 0 = f sin(90" — 9 )= ——
cos 0 = 3: cos(90' — 0 )= ——
tan 0 :—xL tan(90" — 0 )= ——
+ ShITH ek B éiJflK [0 b
2. R%EZEIZ, RO 180 — 0 O =M ERDIR I,

Find the trigonometric ratio of 180" — 0 using the diagram.

sin(180°— 0 )= ——  cos(180 — 0 )= ——

tan(180° — 0 )= ——

4 ) ok Ehh [0 [P ] Mh N
3. MAEFALCT, Ko=Hito®: % &,

Complete the table of trigonometric ratios using the following diagram.

180°| 150 |y g2 30°] 135 |y pe| 45']
1 1omoe V2
ﬁk 150° 0 135 ~
—10| 1 x*%\/g 0 \/§2x*27\/§ 0 \/Z_Zx

42
- - \/__
1
120° 60°
-2 —1o0 1 2x —1 o 1 x
0 90’ 120° 135° 150° 180°
sin 6 / V3
2
cos 0 *_\/,2_ —7/
2
7
tan 0 - —
V3

4.

oF &AM D b
WO =LA RO I,
Find the following trigonometric ratios.
ey b AN
i k!

D cosG——@@k%

b L
sin 0,tan 0 XK L,

=4—3=7
x >0 XY
x =4/ =1
J:/J/Cy
. 7
s1n6——2
tan 0 = —

e
v

, 1D cosG——AZEODJ:%,

bHL
sin 0 ,tan 0 kK X,

@ tan 0 = — /3 D & X,
HL
sin 0,cos 0 &K &,

@ tan  =— 1 D¢ %,
HL
sin 0 ,cos 0 &K &,
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90" < 0<180 DL %,

Shnd O
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Find the following trigonometric ratios when 90" < 6 < 180 .

nwn 7w

il

h
[2]

—

21

aic}

D sinGZ%O)k%,

b L
cos 0 ,tan 0 KD L.

tan 0 = —

@ sinGZ%@k%,

b L
cos 0 ,tan 0 ZRD X,

5 HL
cos 0 ,tan 0 KD L.

xzf(\/5_)2*/2
=5b—7/=4
x <0 &V
x=— =-2
J:/D/Cy
cos 0 = L
RV
tan 0 = S

1
® s1n6——\/2— DL xE,

b L
cos 0 ,tan 0 ZRD X,

2.

oF  ShB< O b
WO =& RD IS0,
Find the following trigonometric ratios.
ey bAED
i k!
1 12
@cosGZ—T@k%,@)cosG:—?@k%,

b L
sin 0,tan 0 XK L,

x
“/3)

Y] (*/)2
=4—7]=3

x>0 XY
x=+/3

Ko T,
sine:ﬁ

2

tan 0 = —+/3

bHL
sin 0 ,tan 0 kK X,

@ tan 0 =— 2D & ¥,
HL
sin 0,cos 0 &K &,

2 X (/5)
-1
2= 22 4 ( 1)
=4+1=5
x>0 &Y
x=4/5
Ko T,
sinG:i
V5
cos 0 = ~ L
Vb

1

® tan 0 = — DL xE,
HL
XK

sin 0 ,cos 0 &K &,
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1. kD= ﬁw%kbﬁém
Find the trigonometric ratio from the following figure.
ny e AN
i &
90" — 0
r X
r y
P ] 90 — 6 A -
X y
sin 0 = f sin(90" — 9 )= ——
cos 0 = 3: cos(90' — 0 )= ——
tm16:—%— tan(90° — 0 )= ——
+ Sh 9 Shm< D
2.!%5%&,&@m0—6@ f b %k 7 S,

Find the trigonometric ratio of 180" — 0 using the diagram.

PT—%yx

sin(180" — 0 )=

tan(180° — 0 )=

cos(180° — 0 )=

eks Sh < O

=% R LT,

(OB i

R T o

Complete the table of trigonometric ratios using the following diagram.

y [150°] y g2 | 30°] 1857 y p2| 45']
S G 1ooo- V2
ﬁk 150° 0 135 -
—10| 1 foj/g 0 \/§2x*27\/§ 0 \@Zx

2
___\/__
1
120° 60°
0 90’ 120° 135° 150° 180°
sin 6 = 0
I
cos 0 0 P
tan 0 —7/

4.

k-1 Shm O
WD = ﬁm%*@ﬁém
Find the following trigonometric ratios.
N HA TN
f5il /E g
1 4
D cos 0 =———7nDEE,|D cos 0 =——D¢& X,
2 '6@ 5 @§
sin 0,tan 0 Z K X, sin 0 ,tan 0 kK X,
X 2
0
—7/ o)
27 = x* +(—7)?
xzf‘zz*(*/)z
=4—7/=3
x>0 £ x =4/3
Ko T,
sin § = Y-
2
tan 0 = — V3
/
= Vi
@tan 0 =— V2D L X, |@tan 0 =— 10L& X,

b L
sin 0,cos 0 K& &,

=2+4+7=3
x>0 &9 x=4/3
K- T,
- V2
sin 0 = ——
V3
cos 0 = L

b L
sin 0 ,cos 0 &K &,
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1. 90 <0<180 DL x, kD= ﬁqtl:fzjwﬁoeéu\ 2. kD= ﬁqtl:fzjwﬁoeéu\
Find the following trigonometric ratios when 90" < 6 < 180 . Find the following trigonometric ratios.
=N HA N N b
151 RH 1) BH 151 RH i RE
@sinGZ%@k%, @sin@zg@k%, @cos@z—é@k%,@)wsez—%@k%,
b b b b
cos 0 ,tan 0 KD L. cos 0 ,tan 0 ZRD X, sin 0,tan 0 ZK» L. sin 0 ,tan 0 K » L.
2
X 0
KR ) L\m
0 —4/3 0
X(—/) 0
2?7 =ax* +(5)? 2 =« +(—v3 )
== (V) Y (vEY
=4—3=7 =4—3=7
x <0 & x>0 &1
x=—v7 =—1 x=+7 =/
£-71, Lo,
_ I : _ I
cos O = 2 sin 0 = 2
_ V3 o /
tan 0 = 7 tan 0 = \/3—
= V5
@ sinf=——0Lx, |@ sinf=——0tx, @tane:—i@&% @ tan § =— ——p & X,
v10 ., \/_ 12 4,
cos 0 ,tan 0 KD L. cos 0, tan@é"?k??’)ot sin G,COSG%ZK&DOEO sin 0 ,cos 0 &K &,
(. e
£
X (=3 0 —/2 0
(iD= st +7°
=5 +(—72)°
= (i) =
=254 744=1769
0= x>0 kv
x <0 &Y
X =4/769 =73
X =—4/9 —=—3
£-7,
J:/D/Cy N
. /
sin 0 = ——
cos O = 3 /3
V70
/2
cos 0 = — ——
an o= — L g
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1. ME225BI12, KOO =fAlkERDR S0, 8. 90 <0<180 DEE, RO=MMUERDLI W,
Find the trigonometric ratio from the following figure. Find the following trigonometric ratios when 90" < 6 < 180 .
y nwn HA WD
i k!
. 3 . V2
®s1n6=£@ké°, D sin 0 =——D & %,

2 b L 2 b L
cos 0 ,tan 0 Z R X, cos 0 ,tan 0 &K K,

N b AN
15 R4 i V3 2
0
sin(180" — 0 )= —r sin § = ———
r X o
_ 2 _ .2 / 2
cos(180" — 0 )= :C cos 0 = ——— 2 =at 1 (VE)
B =27 (VTN
tan(180° — 0 )= 3 tan 0 = ———
=4—3=7
+ V) S ¥ Shm< O [P} AN
2. MEFMM LT, RO=fAo £ 25t L, x <0 &9 x=—+7
Complete the table of trigonometric ratios using the following diagram.
=—7
180°] y [150°] y p2| 30°] 1857 y p2| 45°]
cos 0 = _ L
fl ...... T 2
80" m 150° 0
- —2 -2 ) _ V3
10 1 x=2 = 0 \/§2x "/ (o} \/éZx tanG;ﬁ/—
yp2 R
___\/E—}_
1
\ ) @ tan 0 =— 2D & X, @ tan 0 =— 1D & X,
120' N/ 60 ) o)
-2 ~1o 1 2x —1 [0 1 x sin 0,cos 0 3K X, sin 0 ,cos 0 3K X,
0 0 30° 45 60’ 90’
— 2 X
sin 0 0 aE / 0
2
—/ 0
V3 V2
cos 0 / T T
x2:22 +(*/)2
tan 0 I
V3 =4+7=5
0 90’ 120 135° 150° 180° x>0 &0 x=4/5
sin 0 —L 0 27T,
2
sin 0 L
7 Vb
cos 0 0 — —7
2
cos O = — L
R/
tan 0 —V3 —7/
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wD = ﬁw%kbﬁém

Find the trigonometric ratio from the following figure.

ny e AN
i &
90" — 0
r x
r y
5 [] 90 — 0 -
* y

sin 0 = 3: sin(90" — 0 )= ——

cos 0 = 3: cos(90' — 0 )= —

tm16——%— tan(90" — 0 )= ——

Shh< v

k@mo—e@ ﬁm%*@ﬁéw

Find the trigonometric ratio from the following figure.

sin(180" — 0 )=

tan(180° — 0 )=

53
-~

S o HUE B % SR 7 S o,

Find the correlation of trigonometric ratios.

IH

nw e

i

D cos(90" — 0 ) = %: sin 0

@ cos(180" — 0 )= = - = — cos 0
r r

b AN

il
D sin(90" — 6 )

@ sin(180" — 0 )

® tan(90" — 6 )

@ tan(180" — 0 )

4. 90°< 0 < 180 » & x,

Find the following trigonometric ratios when 90" < 6 < 180 .

ek Shh O

w D= ﬁm%*@ﬁém

nwn

il

b A

i B

D sinGZ%O)k%,

b L
cos 0 ,tan 0 Z R X,

D sinGZ%@k%,

b L
cos 0 ,tan 0 &K K,

/+2=3
x>0 &9, x=+/3
Lo T,
sin 0 = ——
3
) V2
cos 0 = — ——
V3

sin 0,cos 0 &K &,

x<0 &9 x=—+3
3
cos 0 = — p
tanefﬁ/—
V3
@tanGZ—L@}:% ® tan 0 = 1 D& x
Ve T %?M
X

sin 0 ,cos 0 %

o




